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QUESTION 1

Which field in the TCP header is used by the receiver to indicate the number of segments it can receive? 

A. Checksum 

B. SYN 

C. Destination port 

D. Window size 

E. MTU 

Correct Answer: D 

 

QUESTION 2

Which of the following statements about SDPs is FALSE? 

A. The same SDP ID can be used on multiple routers. 

B. Each service requires a unique SDP. 

C. SDPs are not configured on P routers. 

D. SDPs are not configured on CE devices. 

Correct Answer: D 

 

QUESTION 3

What type of VPN service does a VPWS provide? 

A. Layer 3 direct internet access service 

B. Layer 3 IP routed service 

C. Layer 2 point-to-point service 

D. Layer 2 multipoint service 

Correct Answer: C 

 

QUESTION 4

Which of the following is a characteristic of Layer 2 framing? 

A. Provides a universal addressing scheme to uniquely identify destinations in the network 

4A0-100 PDF Dumps | 4A0-100 VCE Dumps | 4A0-100 Exam Questions                                2 / 3

https://www.passapply.com/4a0-100.html
https://www.passapply.com/4a0-100.html
https://www.passapply.com/4a0-100.html


https://www.passapply.com/4a0-100.html
2024 Latest passapply 4A0-100 PDF and VCE dumps Download

B. Size of frame cannot exceed 1518 bytes. 

C. Provides error checking of the frame contents on ingress. 

D. All of the above. 

Correct Answer: C 

 

QUESTION 5

Which bit pattern represents a subnet mask of 255.255.240.0? 

A. 11111111.11111111.11111111.00000000 

B. 11111111.11111111.11110000.00000000 

C. 11111111.11111111.11000000.00000000 

D. 11111111.11111111.00000000.00000000 

Correct Answer: B 
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